
Part 2

Fill in the gaps with suitable verb form active or passive. 

Today, people in Slovakia 01 (LEARN) ............................................. a number of foreign languages. In the past, Russian 

was the language that  02 (LEARN) ............................................. everywhere. However, nowadays you have a wide range 

of choice. Language schools  03 (OFFER) ............................................. a lot of languages to choose from. English, French, 

German and Spanish 04 (TEACH) ............................................. on various levels. Surprisingly, the Russian language  

05 (CAN LEARN) ............................................................. as well  and people  06 (INTEREST) ...................................................  

in it more and more as many of them feel it is the language that  07 (USE) ......................................... in the future even 

more than today.  
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Key:
Part 2: 01 learn, 02 was learned, 03 offer, 04 are taught, 05 can be learned, 06 are interested, 07 will be used


